Rational Numbers
Ex 1H

Now, we have:

& 1Y _ (8 4
(+%5)-(F+3)

LCMof 15and 3 is (3 x 5 x 1), that is,15

8 4 1x(—8)45x(—4)
E A e a—
_ (-8)4(-20)
- 15
—2
— 15
Q3.
Answer :
JA—
% 26

Now, we have:
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LCM of 26 and 39 is 1014, that is, (20 x 1 x 36).
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We have:
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Let the required number be x.
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Using the commutative and associative laws, we can arrange the terms in any suitable manner. Using
this rearrangement property, we have:
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Let the other number be x.

Now,
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Let the required number be x.
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Let the required number be x.
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Thus, the required number is 75
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Let the other number be x.
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Let the other number be x.
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Thus, the other number is %

Q14.

Answer:

7
(@<
Let the required number be x.

Now,
3 = —
—5 &= 2
3 _
=—z=-24z
== (—%-1—2)
e (~3110)
5
=r=1

5

Thus, the required number is %
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Let the other number be x.

Now,
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The numbers =22

= and 1—: are in the standard form because they have no common divisor other than 1
and their denominators are positive.
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Hence, the missing number is Ts_
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Answer:

(b) is a negative rational number

The reciprocal of a negative rational number is a negative rational number.
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